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XEZRE 2 10 4 1 0 1 300 4.0
FE s BAREHER 2 10 5 1 0 1 300 5.0
s BEFRER 2 5 3 1 0 1 300 3.0
XEED FE 52 Rt EHEER 2 2 1 1 0 1 300 1.0
BAXZER 2 14 8 2 0 2 300 4.0
FEEEXE131zh-YavER 2 11 6 4 0 4 300 1.5
=L 12 52 217 10 0 10 = 2.7
TOTEH 2 1 2 1 0 1 300 2.0
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XL REH  |[XEAMEER 2 2 1 1 0 1| 300 | 10
LA T 1« 7ER 2 13 9 2 0 2 300 4.5
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BIRBIEF R 5 23 17 13 0 13 300 1.3
A YEZ R 5 31 17 13 0 13 300 1.3
L2 5 21 9 6 0 6 300 1.5
=Xl 20 99 60 33 0 33 = 1.8
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ey 5 34 17 8 0 8 300 2.1
W AT LIEH 3 34 17 12 0 12 300 1.4
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T
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BEPE KEZH 4 38 22 3 0 3 300 1.3
BEEYEH 3 54 41 1 0 1 300 41.0
Aast 15 113 11 14 0 14 = 5.5
AXZER 4 1 5 5 0 5 300 1.0
A
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BEER 3 11 6 2 0 2 300 3.0
gt =R 3 6 1 0 0 0 300 -
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